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Sample Paper – 2010
Class – XI
Subject -  Mathematics
General Instructions:
1. 
All questions are compulsory.

2. 
The question paper consist of 29 questions divided into three sections A, B and C. Section A   comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 7 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 4 questions of four marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for logarithmic tables, if required.


SECTION – A


1.
Find the value of 
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2.
Prove that: 
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3.
If 
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, x lies in II quadrant, find the value of 
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4.
Express in the standard form: 
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5.
Find the multiplicative inverse of:  
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6.
Find the coefficient of 
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in the expansion of
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7.
Which is larger 
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 or 10000?
8.
Find the equation of the parabola with vertex at 
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0,0 and focus at 0,2.


9.
Compute the derivative of 
[image: image11.wmf]52

y15x23x12x4.

=+-+


10.
Find the 12th term of a G.P. whose 8th term is 192 and the common ratio is 2.



SECTION – B



11.
Prove that: 
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OR

Prove that: 
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12.
Prove that: 
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13.
Solve: 
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14.
If 
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 are different complex numbers with 
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15.
Express 
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 in the form of 
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Represent the complex number 
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 in the polar form.

16.

If 
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 then show that 
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17.

Find the middle terms in the expansion of 
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18.
Using Binomial Theorem, prove that: 
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 is divisible by 8 whenever n is a positive integer.

19.
Prove that: 
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20.

Find the area of the triangle formed by the lines joining the vertex of the parabola 
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to the ends of its latus rectum.

OR


The towers of a bridge, hung in the form of a parabola, have their tops 30 m above 
the road-way and 200 m apart. If the cable is 5 m above the roadway at the centre of 
the bridge, find the length of the vertical supporting cable 30 m from the centre.

21.
Find the derivative of 
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OR
Find:
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22.
Find the sum of the following series up to n terms:  
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SECTION – C



23.
Prove that: 
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OR

If 
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, find the value of 
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24.

A man running a race-course notes that the sum of the distances from the two flag posts
from him is always 10 m and the distance between the flag posts is 8 m. Find the 
equation of the path traced by the man.
25.
Prove that: 
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 and hence find the value of 
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26.
Expand 
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Hence find the value of 
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27.
If a and b are the roots of the equation 
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 equation 
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 where a, b, c, d form a G.P. Prove that 
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OR

The difference between any two consecutive interior angles of a polygon is 5(. If the smallest interior angle is 120(, find the number of sides of the polygon.
28.
Find the coefficient of 
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 in the expansion of the product 
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29.
If a, b, c are in A.P. ; b, c, d are in G.P. and 
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 are in A.P. , prove that a, c, e are in G.P.
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